
C-Service 3

Tilting cylinder Ø125/70-270

783401Model:F 51 F

783401 - Tilting cylinder Ø125/70-270

Page 1 of 2 2011-09-28



C-Service 3

942358611  1Tilting cylinder Kippzylinder

942358652  1Cylinder tube Zylinderrohr

942358663  1Piston rod Kolbenstange

942428014  1Cylinder cover Zylinderdeckel

942608155  1Piston Kolben

823752456  1Seal Dichtung

823570977  1Seal Dichtung

823682358  1O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

823675359  1O-ring 53,57x3,55 O-Ring 53,57x3,55

8237121510  1Wiper ring Abstreifring

6120061011  1Joint bearing Gelenklager

5433290012  2Circlip 90x3 Sicherungsring 90x3

6741101013  3Grease nipple Schmiernippel

8236769214  1O-ring 69,22x5,35 O-Ring 69,22x5,35

4808356015  1Set screw M 8 x 16 Gewindestift M 8 x 16

9423587016  1Shaft sleeve Hülse

9423587117  2Distance bushing Distanzbuchse

6130006218  2Bearing bush Lagerbuchse

4126359019  2Hexagon screw M 8 x 20 8.8 Sechskantschraube M 8 x 20 8.8

4811512020  1Set screw M 12 x 35 Gewindestift M 12 x 35

9426391151  0Spanner L=108, D=10 Schlüssel L=108, D=10

9426390052  0Spanner L=82, D=12 Schlüssel L=82, D=12

9426394153  0Mandrel Ø60 Dorn Ø60

78.340.1  0Tilting cylinder 2 No 470001- Kippzylinder 2 No 470001-

Kit 94242868 Seal kit Dichtungssatz

823752456  1Seal Dichtung

823570977  1Seal Dichtung

823682358  1O-ring 123,42 x 3,55 O-Ring 123,42 x 3,55

823675359  1O-ring 53,57x3,55 O-Ring 53,57x3,55

8237121510  1Wiper ring Abstreifring

8236769214  1O-ring 69,22x5,35 O-Ring 69,22x5,35

Pos Part No Description EN QuantityDescription DE

783401 - Tilting cylinder Ø125/70-270

Page 2 of 22011-09-28


